2008 Advanced Coding Theorem HW#2 solution
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(c) No

hyy = hy, > Ng, > Mg > hyg > hy; > hyy
h, > h, =>hy, >Ny > heg > hy > hyy
h, > h, > hg, >hg; > hy, > hy > hy
(d) hy,—>h,—>hy >hz—>h;>h,—>h,
hyy > hy > hyy > hyg > hgg > hy >Ny,
h, > hy, > hy >Ny —>heg >hy > hy
h, > h, >h, >h; >h;—>h,>h,

There are 7 branch starting from and back to hy;.

Because ith row in H is shift by (i-1)th. We can know total number of cycle 6 is
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Do hard decision and check cH' is zero or not.

Because cH'is zero => finis
Hard decision: {0,1,1,0,11}
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=1.115996

=—0.74657

=-0.88077

=0.165159

=-0.94657

=-0.216
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